Best model for HELP J104653.535+581644.278 at z = 1.005 x2=17.15
OPTx2=19.89 IRy2=15.57 threshold (OPT IR)=16.04 [um]

102 4
E Stellar attenuated
1 Stellar unattenuated
101 i — Dust em‘|ss‘|on
—— AGN emission
= Model spectrum
100 i ® Model fluxes
M oObserved fluxes
> 1071 5
=
S
— _ ety g <
x 1072 X
=
e ]
1073 E
10—4 4
307> 5
q_— 1 ]
= ] ==f=(Obs-Mod)/Obs
S ]
S ]
7 ]
] 0 e e i ————— N ————————— o  —————————————————— -
o ]
) ]
2 ]
5 ]
© —1 T CIGALE
()
(o'

100 10! 102 103 104 10 A
Observed wavelength [um] "



